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3-3. EREHIANEERLHN

—. BUR (o)

LA TIARTANTFREMASEERI60 (UsRT ) AFEIAN00SEREMERTAHN, %28

YR 7KGRZERND (°C) (12°C-7°C ), sedEE91.0565 ( kKW/usRT ), EECOPBYR,
3.33,

[ R3] IENE RS

= ==11y] RS

et
usRT 160 ( EE888RT )

EEEIST : R-22

EEXAHNRAR-22(ERHAT, sBFERERRE, 181055 (KW/UsRT ), SECOP ( 14#E%EN )
BRUE, 9333, RLSEARIBFEIRIEM,

o BERRSEE —FEAIINER (KW ) = BENEE ( UsRT)
=168.8(kW) = 160(UsRT) =1.055(kW/usRT)

¢ COP =m5F8EN ( keal/h ) +BFEHE ( kcal/h )

=160(usRT) x 3024 (kcal/usRT) + (168.8(kW) x 860(kcal/kK\W))
-333




3-3. EfRIHNEE R 55N
| a AU

[553 % %ﬁE ERERELE

-26.90 12.0 30.20 3.33

—. BERE

RKRIEEBIVRFNEIRAKRIEMTVRARNIG0 (usRT ) | B ERANEBSIFNK T L5 R
BFEINER

o SPEENLFNEREE  1.055(kW/uUsRT)
o ERUTHTFAFM © 0.61(KW/usRT)
o FESTNGH | 542 400(usRT)

[BRF -1 KSR U IR




3-3, EfREIAMEER

[(XR3-3JEE NS EIRERITE

TERE
BNRE HFEINEE

MEHFENE (KW/usRT )
REE®E ( KW/usRT)

BERE
FRRIHM R

TAHEEE (MWh/E)
toeREREN
Ttoe
RERfEFE
RFEAES
SR
TAEN

Bl
=
=

M
N
H

mESTREREN
= S RHEE

=. FHARR

ML

160
168.8
1.055

0.61
0.445

542,400
241.37
0.229
5b.27

8,303.3

0.67
152.4
36.78

180
4.89
0.125
30.17

uUsRT
kW/usRT

kW/usRT
kW/usRT
kW/usRT
usRT
MWh/%
toe/MWh
toe/%F
toe/F
%
#75/kWh
BAET/E
BRI
F
tC/MWh
tC/%

EESEHN
Wk
AREINE - A2
REIKRZINCentury
AETGE
RETRA R x T e
BT S~
TAREE x ME R
I R
THE - FHE
SEZGHE (KEPCO ) A&
THE x B
IBHIVI60UusRTHNER
R - A
BT~

TEE x LERE

RERTIZNE "
ERE>d

m=E S NEHEE
[tCO2eq/%]

[MWh/]

241.37 bb.27 36.78 180.0 4.89 110.62




3-3. ERFrIEEE NS AN

(1) FIFSE
(a) LIEBEE : 55.27 (toe/E )
(o) BHEM 1 152.4 ( FT/kih)
(c) EERFNAR 1 542400 (usRT/# )

(2) BATNE

= ( SHDERENER - &8 ) (kW/usRT ) x EEAFNTE (UsRT )
= (1055 - 061)(KW/usRT) x 542 400(usRT)

=241.37(MWh/)

= 24137 (MWh/E ) x 0229 ( toe/MWh ) =55 27[toe/%E]

(3) IRFHEEETILYER
= ( EBRETLIRWh/E] / SeEanesEERE K \Wh/E] ) x 100

= (241 368(KWh/E) / 572 232(KWh/E)) x 100[%]
= 4218 [%]

(4) Erwzq%ﬁ
= FEHRETZE (Wh/EF ) x BARMN (&T/iWh)
= 241.37<kWh/fE) x 162 4(F7T/kWh)
=36./8|BAFTT/F]

(5) 8% %M : 180.0[FAET]
ST 160[UsRtIHMES

(6) I’ EIH
=R ER (BRET ) FETAE ( BRET/F )
=180.0 ( Bh&T ) - 36./8 ( BRET/E )
= 4.89[%]

(7) mESRRHIE

=oRiHEE (tc/F ) x ( Z|ithn FE/ikpF= )
= 30.17(C/E) x (44/12)(CO2eq/C)
=110.62[tCO2eq/%]




